Directions for Adding Impact QC to AvnFPS 
Background:
Local impacts to airports can be addressed by using the optional Impact QC feature in AvnFPS. This goes beyond the impacts used in Category F of Categorical Amendment Criteria (CAC) since more than one value can be utilized and it includes ceiling, visibility, wind, and thunderstorm impacts. Consult with your CWSU for thresholds which can be used for your TAF sites.  Emphasis should be on major hubs and alternate airports. 

Files are located in etc/tafs/KABC/impact.cfg, where KABC is the TAF site. You can create the impact.cfg file for each of your TAF sites. This file can only be modified with the text editor in AvnSetup or in a text window. 
How to Edit the File:
Section [conditions] defines the list of conditions to check. For each tag [cond_N] there must be a corresponding section.

Each [cond_N] provides arguments to the impact check function. The check is done for


each TAF group. The following tags must exist for each rule:


expr
a Python expression to be evaluated. This expression can contain the following



variables: vsby, cig, wind, ts



vsby
visibility, in miles


cig
ceiling, in feet


wind
wind, array that has length equal to the number of runways. Each element of 



the array contains 3 values: runway, cross, and shift. The absolute values



of these components are wind[N].runway and wind[N].cross, where N is



runway number, counted from 0 (as listed in the site configuration file).



wind [N].shift is a Boolean value, indicating the runway component has



changed sign from one TAF period to another. 



ts
Boolean value, denoting whether thunderstorms are present in the TAF

text
message to be displayed when the expression evaluates to True


level
highlight background color



1
green



2
orange



3
red


tag
used to group messages, so only the message with the highest level is displayed

Example:

The CWSU mentioned the following critical local thresholds:
· Visual approach to runway 04R is lost with a ceiling of 2,500 ft

· Circling approach to runway 04R is lost with a ceiling of 1,500 ft and visibility of 5 miles

· Assignment of ILS hold points is required with a ceiling of 800 ft and visibility of 2 miles

· Cross wind of 15 kts or greater on runway 04L/22R and 15L/33R

Below is an example of the impact.cfg file. These first 3 conditions apply to ceiling and visibility:
[image: image1.png]# inpact.cfg
[conditions]
itens=cond_1, cond_2, cond_3, cond_4, condl_5, candl_6, cand_7,cond_8

[cond_1]

tae=FC

level=1

oss of visual approach to 04R...metering nay be reguired
<2600

[cond_2]

tae=FC

level=1

oss of circle aporoach to 04R...metering nay be reguired
rsby<6 and cig<1500

[cond_3]

tae=FC

level=2

eouires assignnent of ILS hold points
shy<2.5 and cig<d00





[cond_1] indicates the loss of visual approach to runway 04R when the ceiling falls below 2,500 ft.

[cond_2] indicates the loss of circling approaches to runway 04R when the ceiling falls below 1,500 ft and the visibility falls below 6 miles.

[cond_3] indicates the requirement for assignment of ILS hold points when the ceiling falls below 900 ft and the visibility falls below 2 ½ miles.

Special Case: Some airports, such as Atlanta’s Hartsfield Airport (ATL), have impacts on airport arrival rate (AAR) even with a scattered cloud deck (no ceiling). In these cases, a little more work is involved:
In addition to the Python expression cig, there is also one for sky cover p[‘sky’][‘str’]
Using the ATL example, the AAR impact is for cloud layers (scattered, broken, or overcast) between 3,500 and 4,500 ft. The [cond] for this impact would be as follows:
[cond_3]
tag=aar
level=2   
text=AAR impacted
expr=(3500 <= cig <= 4500) || [n for n,lyr in enumerate(p['sky']['str'].split()) if lyr.startswith('SCT') and 35 <= int(x[3:]) <= 45]

The next conditions in impact.cfg apply to significant wind shifts and cross winds:
[image: image2.png]text=Uind shift on 04L/22R
expr=uind[0].shift and wind[0].runuay>10

[cond_6]
tag

text=Significant cross wind on 04L/22R
expr=uind[0]..cross>15

[cond_7]

text=Uind shift on 15°/33L
expr=uind[2].shift and wind[2].runuay>10

[cond_8]
u
=
Significant cross wind on 15R/3aL
wind[2].cross>15





[cond_5] indicates a significant wind shift on runway 04L/22R when the wind speed is more than 10 kts.

[cond_6] indicates a significant cross wind (more than 15 kts) on runway 04L/22R

[cond_7] indicates a significant wind shift on runway 15R/33L when the wind speed is more than 10 kts.

[cond_8] indicates a significant cross wind (more than 15 kts) on runway 15R/33L

Prior to TAF issuance, the forecaster can hit the “QC” button (after checking Syntax) and any potential impacts will appear in the text window:
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Note that there are two other QC checks listed: Current Wx and Climate.  

Current Wx compares the first line of the TAF with the latest METAR.

Climate checks each line of the TAF and compares it with climatology, which is automatically included in AvnFPS. It can give the forecaster a sense of confidence in forecasting certain conditions. In the above example, note that there are only 3 matches out of over 25,000 events in Boston for a visibility of 2 miles and ceiling of 800 feet with a north wind of 12 knots. Thus, forecasting higher conditions in this case would be considered.
